Review Problems Week 4

1.  Using an isosceles triangle, confirm the exact values of   
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2. The point P lies on the unit circle, has x coordinate
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, and lies below the y-axis.  What is the y-coordinate of P

3. Solve the inequality 
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4. Graph one complete period of the following trigonometric functions: 
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5. Graph one complete period of the following trigonometric functions: 
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1. Graph 
[image: image7.wmf](

)

x

1

sin

-

. 
2. Convert from radians to degrees: 
[image: image8.wmf]3

p

, 
[image: image9.wmf]6

1

.

0

p


3. Convert from degrees to radians: 
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4. When Dexter leans his ladder against the wall, the base of the ladder is 9 feet from the wall, and the angle formed is 60°. How long is the ladder?
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